1 Apply the taylor series method to the L1 model

Define the L2 model statespace function and output function.
Define the L2 model statespace function and output function.

F = [kaj CT (R — .131) — kidj l‘l]
H :=ax
Generate the first n derivatives of the output in either phase.

Consider two parameter vectors giving equal the output in the dissociation.

Sd = [{kdl = k‘hdI,khdl = khd17$1 = (Ehl,l'hl = xhl}]
Consider two parameter vectors giving equal the output in the Associa-
tion.

R(Cthha1 — ka1 + khdl) O — Chrkhyr — kgr + khgy
Chrkhay T Kar
For a parameter vector to give equal output in both phases it must satisfy
the following.
For a parameter vector to give equal output in both phases it must satisfy
the following.
For a parameter vector to give equal output in both phases it must satisfy
the following.

[ = [{R =R,Rh = , Chp = Chr,kor = kaz,kar = kaz, khar = khar,khar =

R = Rh
Rh = Rh
Chrkh g

=
Chr = Chr
kar = ka1
kas = khay
khai = khay
khqr = khay

T = .Z'hl

xhl = .Z'hl



